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Math 3

PRACTICE Quiz 4.1 - 4.2 Fundamental Identities

Name___________________________________
©o m2A0_2z1D hKbuatba^ uSDoQf_tdwmaCrKeO ILnLsCD.^ A jADlWl_ LrpiCgShrtNsh irEeHsCeCrsv]ejdi.

-1-

Verify each identity.  Must show all work!  Give reason for each step for credit.

1)  
1

csc2 xcos x
 = 

sin x
cot x

                        

2)  sec2 xsin2 x = 
1

cot2 x
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3)  
1 - sec2 x

sin2 x
 = -sec2 x                                         

4)  
sec2 x - tan2 x

cot x
 = sec xsin x                        
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Verify each identity.  Must show all work!  Give reason for each step for credit.

1)  
1

csc2 xcos x
 = 

sin x
cot x

                        

1

csc2 xcos x
Use csc x = 

1

sin x

sin2 x
cos x

Use cot x = 
cos x
sin x

sin x
cot x

■

2)  sec2 xsin2 x = 
1

cot2 x
                       

sec2 xsin2 x Use sec x = 
1

cos x

sin2 x

cos2 x
Use cot x = 

cos x
sin x

1

cot2 x
■
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3)  
1 - sec2 x

sin2 x
 = -sec2 x                                         

1 - sec2 x

sin2 x
Use tan2 x + 1 = sec2 x

-
tan2 x

sin2 x
Decompose into sine and cosine

-
( sin x
cos x)

2

sin2 x

Simplify

-
1

cos2 x
Use sec x = 

1

cos x

-sec2 x ■

4)  
sec2 x - tan2 x

cot x
 = sec xsin x                        

sec2 x - tan2 x
cot x

Use tan2 x + 1 = sec2 x

1

cot x
Use cot x = 

cos x
sin x

sin x
cos x

Use sec x = 
1

cos x

sec xsin x ■


